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— mean=1000- ( (exp (-0.054c) ) *200)
- ¥=1000+ (50/1.0025) *s1n(c)+(2.5/1.0025) *cos ()~ ( (exp (-0.05°c)) *

11 - if rem(t,2) =0
13 = valuess([values,mean]

|
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13- e1se

4 - values=[values,y]

15 - end

16 - excelvalues®transpose (values)
17 -  minswtranspose(t)

18 - plot(t,values)

volume(litres)
B 8 58 84888

volume (12 A
as - xlswrite('c

20 - xlswrite ('
as - xlswrite ('
26 - xlswrite ('
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- HOME INSERT ~ PAGELAYOUT  FORMULAS  DATA  REVEW vew

n2 ) 13 279.961914100068

B L < o 4 r G " ) K L 1X] N o L Q r 5
t(min)  V(Litre)
1 279.9639
2 3181907
3 3128601
4 303601
5 327.9009
6
7
[}
9

392,959
4091423
5110566
506.5922
484.,0395
11 487.1398
12 5349208
604.26804
6512431
10 15 6514094
17 16 622.6706
e 17 6083676
19 18 637.9229
20 19 699.585
N 20 7513315
2 21 759541
rt] 2 7299392
u 23 702367
1} 24 7141865
20 25 765953
27 26 8209421
0 27 8389303
2 28 813.21%
an 29 776.7953
veriler | Sheet2 + 0
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